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Choose the cor rect answer .

1. Domain of cosecx is

@R (b) R—{x|x=nz,ne Z}
(¢) negativerea numbers (d) none of these

2. Domainof tanx is
@R (b) R—{x|x=nz,ne Z}

© R—{X|X:(2n+1)%,neZ} (d) none of these

3. Domainof cotX is

@ R—{x|x=nz,neZ} (b) R—{x|x=(2n+1)%,ne2}

(c) set of real numbers (d) none of these
4. Rangeof cosecx is

@I[-11 () R (c) negativered no.  (d) R—{x|-1<x<1}
5. Rangeof cosX is

@I[-11 (0 R (c) negative rea no. (d R-{x|-1<x<1
6. Rangeof cotX is

@I[-11 () R (c) negativered no.  (d) R—{x|-1<x<1}
7. Periodof cosx is

@ (b) 7 (9 27 () 4
8. Peiodof tanx is

@ (b) 7 (9 27 () 4
9. Periodof cosecx is

@7 (b) 7 (9 27 () 4
10. Period of Sin3x is

@ 0= © = @ 2
11. Period of tan4x is

T T
@ (b) > © 2 (d 2n

12. Period of cotg is
T T
/8 b) — c) — 2
@ (b) 2 © a (d)
13, Period of sing is

@ 7 (b) 37 © — (d) 67
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Period of cosecg is

@ =z (b) 57 (o 10z (d 27
Period of 2cosX is

T
@ > (b) = (9 2n (d) 4r
Curves of the Trigonometric functions repeat after fixed interva's because trigonometric functions are
(&) ssmple (b) linear (b) quadratic (d) periodic
Domainof 3sinX is
@ [-3,3] (b) R (c) positiverea no. (d) none of these
Rangeof 3sinX is
@ [-3,3] (b) R (c) positiverea no. (d) none of these
Rangeof 2tanx is
@R (b) [-1,1] (© {—%%} (d) none of these

A function f (X) issaid to bethe periodic function if for al x in the domain of f , there exists a smallest
positive number p suchthat f(X+ p) =

@ f(p) (b (%) (¢ f(0) (d) none of these
For the graph of the trigonometric functi ons the measures of the angles are taken along the
(@ x—axis (b) y—axis (0 z—axis (d) none of these
For the graph of the trigonometric functions the values of the trigonometric functions are taken along
(@ x—axis (b) y—axis (0 z—axis (d) none of these
The graph of y =cosx lies between the horizontal lines y = -1 and
@ y=+1 (b) y=0 (9 y=2 (dy=-2
The period of cot 8X is
T T T

Via b) — C) — —

@ (b) > (© 2 (d) 3

The graph of y =sin X lies between the horizontal lines y = +1 and
@ y=+2 () y=0 (9 y=2 dy=-1
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